
Week 17 
Name: __________________________________________________________________     Dec. 9-12, 2019 

Topic Monday Mon. Workspace Tuesday Tues. Workspace 
 

1 
 
 
 

What is 167 rounded to 
the nearest 10? 
 

 
Nearest 10 _________ 
 
 
 

Use repeated subtraction 
to solve 2​4 ÷ 6 

 
 
 
 

 
 
 

24 ÷ 6 = ______ 
 

2 
 
 

Find the sum.         ​2,487 
     +564 

Use the distributive 
property to solve. 

            3 x 40= 
 
 

 
3 x ( 20 + ____ )  
 
(3 x ___ ) + (3 x ____ ) 
 
   _____    +   _____ 
 
          __________ 
 

 
 

3 
 
 

Write the fact family that this 
array represents. 

 
 X X X X X X X X X X 
 
 X X X X X X X X X X 
 
 X X X X X X X X X X 

 

 
 

______ x _____ = ______ 
 
______ x _____ = ______ 
 
______ ÷ _____ = ______ 
 
______ ÷ _____ = ______ 
 
 
 

 

Adrian has 40 coins. He 
divides them into 8 equal 
groups. How many coins 
did Adrian put in each 
group? 

 
 

A. 7 
  
      B.  4 
 
       C. 9 
 
       D. 5 

 
 

4 
 
 
 

Which problem shows the 
distributive property of 
multiplication? 

A.22 x 5 = 5 x 22 
B.4 x (11 x 2) = (11 x 4) x2 
C. 1 x 8 = 8 
D. 2 x 18=(2x9)+(2x9) 

What number makes both 
number sentences true? 
 
 4 x ___ = 32      32 ÷ ___ = 8 
 

A. 7 
B. 4 
C. 5 
D. 3 

 
5 
 
 
 

What is the place value of 
the digit 6 in 862? 

 What is the value of the 
digit 6 in 862? 

 

 
Monday 6. Dylan collects stamps. He has 23 bird stamps, 14 car stamps, and 5 flag stamps. He decides to split all 
the stamps into 6 boxes. How many stamps will he put into each box? 
Show your work below. 

 
 
 
 



 
 Wednesday Wed. Workspace Thursday Thurs. Workspace 
1   

Estimate to find the 
sum of 79 + 15 
 

A. 70 + 10 =  80 
B. 80 + 20 = 100 
C. 70 + 20 = 90 
D. 80 + 15 = 95 

Estimate to find the difference. 
  
          ​52 - 12 

A. 50 - 10 = 40 
B. 40 - 10 = 30 
C. 50 - 20 = 30 
D. 60 - 10 = 50 

2 Kinley had 68 crayons. She 
gave 19 of them to 
Mikayla, then she found 12 
more. How many crayons 
does Kinley have now? 
 
________ crayons 

Show your work. Write the number 
5,283 in expanded 
form. 

 

3  
Use repeated subtraction to 
solve 28 ÷ 7. 

 Find the product. 
 
9 x 10 = ____ 
 
5 x 10 = ____ 

 

Find the quotient. 
 
90 ÷ 9 = _____ 
 
50 ÷ 10 =  _____ 

4 Round 488 to the 
nearest 10. 

 
 
 

 ​6 2 1 
-  ​1 8 6 

 
 

Add to check 
 

 

Wed. 5.​ ​Crew’s mom baked 24 brownies. Crew shared the brownies with Anthony, Benjamin, and 
Jackson. How many brownies did the four boys get each? 
 
 
Circle the correct model for this problem. 
 

A. X X X X X X X X X        B. X X X X X X      C. X X X X X X X  X   D.  X X X X X X 
X X X X X X X X X            X X X X X X           X X X X X X X X          X X X X X X 
X X X X X X X X X            X X X X X X           X X X X X X X X          X X X X X X 
                                              X X X X X X 

   

  
 

Wed. 6. Brady has about 40 stickers. Carson has 43 stickers. Is it possible for Brady to have more 
stickers than Carson?   Circle:  Yes   or    No 
Justify your thinking using words, pictures, or numbers. 
 
 
 
 
 
 


